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Direction (1-5): Read the information carefully and answer the questions: 
There are eight different boxes are places one above another. Each box contains different 
fruits i.e Mango, Orange, Banana, Apple, Guava, Grapes, Pineapple and Litchi but not 
necessary in the same order.  
The box of orange is immediate above the box of Grapes. The number of boxes in between 
box of Pineapple and the box of grapes is one more than between the box of Apple and box 
of Litchi. Not more than three boxes are placed above box of Apple. Two boxes are between 
box of mango and box of Apple, which is below box of Mango. The box of Guava is 
immediate above the box of Orange. The box of Mango is adjacent to box of Pineapple. The 
box of Guava is placed below box of Pineapple. 
 
Q1. How many boxes are between box of Orange and Banana? 
(a) Two 
(b) Three 
(c)  One 
(d)  Four 
(e)  None 
 
Q2. Which Fruit of box is immediate below to box of Guava? 
(a) Apple 
(b) Mango 
(c) Orange 
(d) Litchi 
(e) Grapes 
 
Q3. Four of the following five are alike in certain way based from a group, find the one that 
does not belong to that group? 
(a) Pineapple, Guava 
(b) Apple, Grapes 
(c) Banana, Orange 
(d) Mango, Pineapple 
(e) Mango, Apple 
 
Q4. Which of the following boxes are not adjacent to each other? 
(a) Pineapple, Mango 
(b) Orange, Grapes 
(c) Apple, Banana 
(d) Orange, Pineapple 
(e) Litchi, Grapes 
 
Q5. Which box is immediate above the box of Banana? 
(a) Orange 
(b) Grapes 
(c)  Pineapple 
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(d) Guava 
(e) Litchi 
 
Directions (6-10): Following questions are based on the five three-digit numbers 
given below. 
  
341     918     476    211   547      
  
Q6. If all the digits in each of the numbers are arranged in increasing order within the 
number then, which of the following number will become the lowest in the new 
arrangement of numbers? 
(a) 341 
(b) 918 
(c) 211 
(d) 476 
(e) 547 
  
Q7. If all the numbers are arranged in ascending order from left to right then, which of the 
following will be the sum of all the three digits of the number which is 4nd from the right in 
the new arrangement? 
(a) 10 
(b) 19 
(c) 8 
(d) 16 
(e) None of these 
  
Q8. What will be the difference when third digit of the 3rd lowest number is multiplied 
with the second digit of the highest number and third digit of the 2nd highest number is 
multiplied with the second digit of the lowest number? 
(a) 1 
(b) 2 
(c) 5 
(d) 6 
(e) None of these 
  
Q9. If the positions of the second and the third digits of each of the numbers are 
interchanged then, how many even numbers will be formed? 
(a) None   
(b) One  
(c) Two   
(d) Three 
(e) Four 
  
Q10. If one is added to the second digit of each of the numbers and one is subtracted to the 
third digit of each number then, how many numbers thus formed will be divisible by three 
in new arrangement? 
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(a) None  
(b) Four 
(c) Two   
(d) Three 
(e) One 

 
 

Directions (11-14): Study the information carefully and answer the questions given 
below. 
Ankur starts his journey from point T, walks 8m towards East to reached at point P, then 
takes a right turn and walks for 15m to reach point X. From point X he takes a left turn and 
walks for 7m to reach at point S, from point S, he takes a right turn and walks 14m to reach 
at point J, then takes a right turn and walks 18m to reach point O. From point O, He walks 
14m in north direction and reached point H.  
 
Q11. What is the shortest distance between point T and X? 
(a) 15m 
(b) 19m 
(c) 15m 
(d) 17m 
(e) None of these 
 
Q12. In which direction point T with respect of H? 
(a) North  
(b) North-east  
(c) South-west  
(d) South 
(e) North-west 
 
Q13. If point M is 9m south of Point S, what is the shortest distance between point R and M? 
(a) 26m 
(b) 22m 
(c) 21m 
(d) 24m 
(e) 25m 
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Q14. What is the total distance covered by Ankur from point T to point H? 
(a) 76m 
(b) 65m 
(c) 68m 
(d) 74m 
(e) 75m 
 
Q15. Pointing to a lady, Dinesh says to his only Brother, "She is daughter of my mother’s 
only daughter in law". Dinesh’s brother is unmarried. How is the lady related to Dinesh? 
(a) Brother   
(b) Daughter-in-law  
(c) Sister   
(d) Daughter  
(e) Wife 

 
Solutions 

Solutions (1-5): 
Sol.  

 
 
 
 
 
 
 
 
 
 

S1. Ans. (a) 
S2. Ans. (c) 
S3. Ans. (d) 
S4. Ans. (d) 
S5. Ans. (c) 
 
Solutions (6-10): 
S6.Ans.(c) 
S7.Ans.(c) 
S8.Ans.(a) 
S9.Ans.(c) 
S10.Ans.(e) 
 
Solutions (11-14): 
Sol.  

Boxes 
Mango 
Pineapple 
Banana 
Apple 
Guava 
Orange 
Grapes 
Litchi 
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S11. Ans.(d) 
S12. Ans.(b) 
S13. Ans.(e) 
S14. Ans.(a) 
 
S15. Ans.(d) 
 
 

 
 

For any Banking/Insurance exam Assistance, Give a Missed call @ 01141183264 

 

https://store.adda247.com/product-onlineliveclasses/4366/SBI-CLERK-Prelims-Revision-Batch-Bilingual-Live-Classes

